Math 101
Quiz 3&4 (chapter 2)

Name: ID #: Section: Serial:
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1. An equation of the tangent line to the curve y = — when
x
x = —1 is given by

(a) y=—3x—2

(b) y=—-22x—-3

1 4
(c) Yy=73¥ 73
1

(e) y=—-3x—4

2 If flz) = 2N

ments is TRUE ?

, then which one of the following state-

() lim f'(z) = o0

(b) lim f'(z)=1

T—00

(c) lim f'(x)=1

T——00

(d) lim f'(z) =0

x—0"

(e) lim f'(z) = +1

z—0
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3.

Which one of the following statements is TRUE about the
continuity of the function?

|
_ 1,—4
) 2?43z -4 v7 L
fe) =4 4, r=1
D, r=—4

(a) f has an infinite discontinuity atxz = 1

(b) f has a jump discontinuity atx = 1

(¢) f has a removable discontinuity at =z =1

(d) f is continuous atz = —4

(e) f has a removable discontinuity at x = —4

If the function

r+b <0
f(z) = b+1
224+b >0

is continuous everywhere, then f(—1) =
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5.

Let f(x) = v/1 — 3x. The greatest possible value of § > 0

for which xll>r£ll f(z) =2, when ¢ = 5 i

—
o
N—
Do | Ot

DO o

lim (z + va? +2zx) =

T——00
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7.

2?+bx if <1
ax+b it x>1
is differentiable everywhere. Then b =

The function f(z) =

Where is f(z) = In(1 — \/x) continuous?

(a) (0,00)

(b) (0,1)

(¢) 0,1)

(d) (1,00)

(e) (0,00)
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9.

10.

) T
lim

x——11t \/x 1

=3 1 — 3

flz) -4

= 5, then :lﬂllgxf(a:) =
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